



Vendor Ranking

Page 1 of 1

 Letting:
 03190808
 August 08, 2019 02:00 PM
 Call Order: 006
 Contract:
 E3S89

 District:
 District 3
 Counties:
 GULF
 Fed Aid No: N/A

Contract Time: 120 CALENDAR DAYS Project(s): 4453111G201 (*)

Contract Desc: GULF COUNTY - HURRICANE MICHAEL - EMERGENCY OPERATIONS

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$276,878.15	100.00%
2	NORTH FLORIDA CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$521,274.60	188.27%
3	ROBERTS AND ROBERTS, INC.	Responsive	Non-Winning Bid	\$601,496.60	217.24%
4	ROADS, INC. OF NWF	Responsive	Non-Winning Bid	\$837,281.10	302.40%
5	RBM CONTRACTING SERVICES, LLC	Responsive	Non-Winning Bid	\$1,255,555.00	453.47%
6	C.W. ROBERTS CONTRACTING, INC.	Responsive	Non-Winning Bid	\$1,874,121.25	676.88%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 5

 Letting:
 03190808
 August 08, 2019
 Call Order:
 006
 Contract:
 E3S89

 District:
 District 3
 Counties:
 GULF
 Fed Aid No:
 N/A

Contract Time: 120 CALENDAR DAYS Project(s): 4453111G201 (*)

Contract Descr: GULF COUNTY - HURRICANE MICHAEL - EMERGENCY OPERATIONS

The Improvements under this Site-Specific Contract consist of reworking and restoring non-paved shoulders, slopes, and roadside ditches along primary roads in Gulf County. Other services required to achieve this work include providing for Maintenance of Traffic (MOT), furnishing borrow material, grassing and sodding disturbed areas. Mobilization and Maintenance of Traffic (MOT) is incidental to the other pay items listed.

Line No / Item ID Alter Item Description	nate Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) NORTH CONSTRUC			AND ROBERTS, IC.
() indicates item is bid as Lump S	Sum	Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	REPAIRING N	ON-PAVED SHLDF	RS (MANUAL) (S	Y)			
0005 0120 2 2 BORROW EXCAVATION, TRUC MEASURE	50.000 K CY	125.00000	6,250.00	93.22000	4,661.00	25.00000	1,250.00
0010 0120 10 11 CLEAN AND RESHAPE DITCH, DITCH WIDTH UP TO 15'	1,800.000 SPREAD, LF	4.95000	8,910.00	13.39000	24,102.00	12.50000	22,500.00
0015 0120 10 12 CLEAN AND RESHAPE DITCH, DITCH WIDTH 15-30'	1,800.000 SPREAD, LF	4.95000	8,910.00	18.30000	32,940.00	22.00000	39,600.00
0020 0120 10 21 CLEAN AND RESHAPE DITCH, DITCH WIDTH UP TO 15'	1,200.000 HAUL, LF	8.95000	10,740.00	17.97000	21,564.00	15.00000	18,000.00
0025 0120 10 22 CLEAN AND RESHAPE DITCH, DITCH WIDTH 15-30'	800.000 HAUL, LF	9.95000	7,960.00	28.54000	22,832.00	32.00000	25,600.00
0030 0120 10 23 CLEAN AND RESHAPE DITCH, DITCH WIDTH GREATER THAN		18.95000	7,580.00	50.35000	20,140.00	65.00000	26,000.00
0035 0570 1 2 PERFORMANCE TURF, SOD	2,145.000 SY	4.25000	9,116.25	7.14000	15,315.30	3.50000	7,507.50



08/29/2019

Tabulation of Bids

Page 2 of 5

Lettin	ig: 0	3190808	August 08, 201	9 Ca	II Order: 006		Contract:	E3S89	
		e Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(2) NORTH FLORIDA CONSTRUCTION, INC.		(3) ROBERTS AND ROBERTS, INC.		
() in	ndicates item is b	id as Lump Sum		Unit Price LL	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	REPAIRING NO	ON-PAVED SHLDI	RS (MANUAL) (S)	()			
0040 SEED 8	E570 2 & MULCH		95,080.000 SY	1.08000	102,686.40	1.56000	148,324.80	1.27000	120,751.60
0045 SHOUL	E577 70 LDER REWOR	K	97,225.000 SY	1.18000	114,725.50	2.38000	231,395.50	3.50000	340,287.50
0001	0001 REPAIRING NON-PAVED Section Totals: SHLDRS (MANUAL) (SY)				\$276,878.15		\$521,274.60	\$601,496.60	
	Contract Grand Totals:				\$276,878.15		\$521,274.60		601,496.60



Page 3 of 5

Florida Department of Transportation



Tabulation of Bids

Letting	g : 0:	3190808	ugust 08, 201	9 Ca l	II Order: 006		Contract:	E3S89	
	No / Item ID Description	Alternate	Quantity Units	(4) ROADS, II	NC. OF NWF	(5) RBM COI SERVIC			ROBERTS CTING, INC.
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	REPAIRING NO	N-PAVED SHLD	RS (MANUAL) (S	Y)			
0005 BORRC MEASU	0120 2 2 DW EXCAVATI IRE	ON, TRUCK	50.000 CY	500.00000	25,000.00	112.00000	5,600.00	54.00000	2,700.00
	0120 10 11 AND RESHAF WIDTH UP TO	PE DITCH, SPRE 115'	1,800.000 EAD, LF	34.27000	61,686.00	63.00000	113,400.00	65.00000	117,000.00
	0120 10 12 AND RESHAF WIDTH 15-30'	PE DITCH, SPRE	1,800.000 EAD, LF	49.09000	88,362.00	77.00000	138,600.00	116.00000	208,800.00
	0120 10 21 AND RESHAF WIDTH UP TO	PE DITCH, HAUL 15'	1,200.000 _, LF	58.35000	70,020.00	84.00000	100,800.00	75.00000	90,000.00
	0120 10 22 AND RESHAF WIDTH 15-30'	PE DITCH, HAUL	800.000 _, LF	86.14000	68,912.00	98.00000	78,400.00	122.00000	97,600.00
	0120 10 23 AND RESHAF WIDTH GREA	PE DITCH, HAUL TER THAN 30'	400.000 _, LF	101.89000	40,756.00	119.00000	47,600.00	207.00000	82,800.00
0035 PERFO	0570 1 2 RMANCE TUR	RF, SOD	2,145.000 SY	7.13000	15,293.85	14.00000	30,030.00	4.50000	9,652.50
0040 SEED 8	E570 2 MULCH		95,080.000 SY	2.00000	190,160.00	3.50000	332,780.00	1.50000	142,620.00
0045 SHOUL	E577 70 DER REWORI	Κ	97,225.000 SY	2.85000	277,091.25	4.20000	408,345.00	11.55000	1,122,948.75



08/29/2019

Tabulation of Bids

Page 4 of 5

Letting:	03190808	August 08, 201	9 C	all Order: 006		Contract:	E3S89	
Line No / Item ID Alternate Quantity Item Description Units		(4) ROADS, INC. OF NWF		(5) RBM CONTRACTING SERVICES, LLC		(6) C.W. ROBERTS CONTRACTING, INC.		
() indicates it	em is bid as Lump Sເ	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TION: 0001	REPAIRING NO	ON-PAVED SHLI	DRS (MANUAL) (S	Y)			
0001 REPAIRING NON-PAVED Section Totals: SHLDRS (MANUAL) (SY)			\$837,281.10			\$1,255,555.00		\$1,874,121.25
	Contract	Grand Totals:		\$837,281.10		\$1,255,555.00		1,874,121.25



08/29/2019

Tabulation of Bids

Page 5 of 5

Letting: 03190808

August 08, 2019

Call Order: 006

Contract:

E3S89

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.